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Wnite the answer to e ach

uestion in the « k only
A WU B fefq TRy 3 e ey Z,'g:,hgﬁ"" /3R / FamT B ox RN
& e Sl C T there is any erroy / difference / contradiction in Hindi & Engish
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GUS-H  Section-A
1. a’gﬁvmﬂm Multiple choice questions

AL TR £ R o R, (1) = 32 griaRurRa @ @ e -

If f: R — R bedefinedas f(x)= 3x thenthe function - I
{a)yt WW% i is one-one and onto

(b)Y IECH ATWIESH .  is many-one onto

T TPHIRIGITDBTES AE & [ is one-one but not onto

() f ANTHBI RINRFNTEBTRS R 1 is neither one-one nor onto
Jmt tan ‘3 - sec'(-2) BIHMR- Thevalucof 1an'd3 - sec’(-2)is:

(@ A5 - § ) § (d) 4P
i) AR A=[] 3] sirB=[? 3]|Asmgee, MaBEM-

™
lfA—[ 1 5] andB=[ 2 3]art:twﬂmam’ces*thenABwillhe— 1
« [0 7] ®[5 4] @l i] @[o o]
ey wftevo (YUY 2] = (¢ 2] A ymrAeE:
lntheequauon[ Yty ﬂ {E gJ thevalueof y s - 1
(a)6 é) - (€) 2 (d)0
) a2 3)<|3 ) axmame i |] J[-] 3 1) thenvalueof x is- 1
(a)2 )3 (c)-3 (d)-2
(_J_u} Iogmr BT+ B GG IIBAA & The derivative of log,,x w.rto x is- 1
@ + ®) ooy (€) 108uc @) g
i)y =2 QRAB y=y -y By @ Puaornd: ~
The slope of tangenttothecurve v=v -x at x =2is- i
JEIRY (b)é (c)s (d)3
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il'vlm g . ::I.J,'ll.lh .
“"n S SI YOS X !
(adtany ¥ cotv + € J"bhﬂl‘ll s Coty 4
(c)tanx cotx * ¢ + Cos dy) (Dtang . cot2x + (
/ﬁmmﬁﬂﬁm( “(dt)'- 0 Flurgy,
; - . differential eQuatigy, (d vy, .
The degrec of the di c [:1-:-) C n‘-[j:) 0 is- I

“ar'2 (b1 ey .
& Ty (d) arafafag Not defined

’((ﬂ' ﬂﬁﬂ i" :j-'. =
The direction cusine of the vector 74 27+ 2k are -
(@)1.2.2 (b)-1.-2.-2 é1.2 2 !
. o, AR R T (d ¥ A
i Afw i+ j RaEfRe i HINaR. ’ )&ﬂﬁ
The projection of the vector l+| On the vector 1- -7 i
S -
{a) ] ~6)0 !
) L [C]j%‘ {d]aﬁgﬂ'ﬁ none of these
/ﬁ”]am jx-v_*.}*éiz-'-ilaﬂ-\"l_l. '-’ﬁ'}"-'azzjz *'ﬂaaﬁ ‘
Distance between the two lanes 2y - 3y+42z=4and4 +6 iﬁ?
XTO0y +Bz=121s. i

{ajza?ﬂé'—’u""" {b}4m 4 units {L}Bm Rumhj-d}mm
| B gfI FHSIT  Fil the blanks - o
pa sm'{-ﬂr] I ... R The principal value of sin 'fﬁ-]is“ ]

3
H‘l’}’ﬂﬁ!l’ﬂ‘—[ ]Gﬁ?dn(IB“lz d]?ﬁ then A+ B=_ \
uﬁwqaaﬁﬁw r=6cm 9 r %mﬂﬂmﬁwﬁaﬂqaﬂn

The rate of change of the area of circle with respectionsradius r at r=6emis 1
;,uﬂg S = HIAA........... 8 Thevalueof SL ]d" il O |
N - o 1-x -
ﬁmm_q BIANBES ... B ¢™E9% - ¢

The general solution of differential equation 9Y. ¢ is_ .. 1

£ R P(1.2.3) 3R Q2. 3. 4) ) e aren wd p A Q A avs e wfen
B The vector Jommu the points P (1, 2, 3) and Q (2, 3, 4)
dlru..u-h-:l from P 1o Q is.

L AR P(A)=355,p(B) - 1 <3ﬁ?rxﬂm[iﬁﬂamﬁﬁh P(ANB) =
: e .
FPIA)Y =35, PB)= 115, Aang B are independent events then P(A M Bl is

1

3. IfvargaTems
H¥T  Very short answer type questions -

0= 204 3 ERIgEm @ N, N erige 3 £(v) STEBTEG TE € |

Show th: : - :
how that the function N —» N.gjyveq by f(x) =2y + 3isnotonto. 1
) 3x 3 amrfe mm . >
(Tﬁ El'-'!am I Write the identity matrix of 3x Jorder 1
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ner of the element 2 "Mhe delivimei e 6 & 1 :
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o afR 2y 3y Tsinx H’I%mﬂgql If 2v = 3y ™sinx then ﬁnd-:—:-‘-:- I

-E:ﬁ %m? R9T f(x)=3++17 queabadadarg)
Prove that given function f{x}=3x+ 17isincreasingon R. I

s BfARAT- 21 + 25 - sk qen b=2i+j+ 3k AR, M 2.t sma#Afong
Ifvectora =21+ 2j- sk and vectorb=27+]+3kthenfind 2.5 1
D'"T v- A ﬁmaﬁ'ﬂlﬁ maﬁﬁm | Find the direction cusine of x-axis. 1
i = 2 @ srenta ey e e g g A vitse
Show the region of feusible solution under the following coustraints - 1
2x + 3y <12 xz20 v20
— Aix) & p(B)=027enpP(A)- 0.8 P(A~B) T NG

IfP(B)=0.2and P(A) = 0.8, then find P(AB) I
Ax) TRA M BAWAA G R, 9E P(A) = 4. P(AUB)= 4 a1 P(B)=x
- TN B HE wa B If A and B are two independent events with
P(A)= {f . PlAUBY= -':- and P(B)= x.then find the value of x. |
TUE-§ Section-B

4—Frgm PIAT- Provethat: 3sin'x=sin'(3r-4x'),x € [--.],-.-:-l,-] 2
‘-u"arrqs[i %]aﬂwmﬂﬁﬁs“ml Find the incense u-l'numrix [3 E] 2

A (=173 15| groafnRa s @ « = | o Hdam A sra Ao
= Fraamine the cominuity of function fl. )= h";' :{Il al pormtx = 1 2
2 Wﬂ‘ﬂ'ﬁ?{' Find - S:FI_%IT 2
& Sa@Foe- Find- Sﬁfm .

/9. 1-38Tdy=sinr SR AT HATFATAIR, Safds o < X <n
Find the area of bounded by the x - axisand y = sinvwhen 0 < x < . 2

A0 T y=x I y =4 3R & 7 87w madifon)
Find the area of the region bounded by the curve y = x’ and the line y = 4. )
. il 5 76 @ e Rrg A -

For the Vectors a and b provethe [axB['= [a['[B] - la .BJ 2
12, T A BT NS0 A FHAC A o+, y AR 2 38 wwww: 2, 3 30 4 3
[ HIEA R | Find the equation of the planc with intercept 2, 3 and 4 on the
v, y and z - axis respectively. 2

A__E. anardita R A Frafafae W whm v @ AT @ R g #ifdn

By graphical method solve the fnucwmg lincar programinal problem for minimise

IJeTAPTAA  Objective function Z =50+7Ty

™ Constraints 2x+y2 g
A+2y2 10
202 0
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14,1 B AT 1 ™ B Sqaer gna AN, T4 - g

Diftereniate ¥ wor toy wheny 0 \
YT On

afd v -sin'y A aertgofd (| XY XY, =0
If v sin'v.then show that (1-X)y,-xy,=0
/15, HABATABIOT x JE + 2y = ¥ (x# 0) FIATID T WA Ffdrg
Find the general solution of the differential equation %‘Fr 2y - x(x#0) 3
AU Oy

R (-2. 3) | YO T TN T 1 T 3701 FRIG Rreras 7 g (x, )
qx ¥l I A waean —ix- %.. Find the equation of a curve if the slope 1o the
tangent at the point (x, y) is -?"- and passes through the point (-2, 3)

(ﬁ_-}maﬁr= G+2f+k +a@-J+RARr=21-7-0)+pn@i+j+ 2k
B LI AT FNCI  Find the shortest distance between the lines
P=@+21+K+A@@-7+Kandr=Q21-7-k)+p@2+j+2k 3

gt Or
: . 5 tl_ y2 725
Toifag R Y@y L3 = X - Z2 Sl e 2 Parada
Show that the lines 2 '33 = Fi' = 7%5 and ﬁ;' - !r’f = *";55 are coplanar. .
) Fua Or

17 2mﬁaﬁﬁsﬁﬁwwmm%lmﬁﬁ%@jﬁﬁmﬂa§nﬂ%ﬁﬁ§zzﬁqﬁ
£ @ R AN eAMMATM AL ? A card from a pack of 52 cards is

lost. From the remaining cards of the'pack two cards are drawn and an founded to

be both diamonds. Find the probability of two lostcard being a diamond. 4
aql Or
s AT ax P MATm e A R, s dfin-
Arandom vanabe x has the probability distributionis, Find
(i) K (ii) P(x<3)
x 0 l 2 3 4
P(x) 0 K 2_]5_-'__ 2K 3K
4

'}
= tany

x'6

. ;A (O
Wa®IT  Find S/—_x‘+—2x+5 dx

0. x ey =2 a}ﬁq_{(hﬂﬂﬂ“m@aﬁmﬁﬂﬁmﬂmm'

v=2 at(l, D) 4

A A ITABINT  Find the value S

‘H!“" L
Find the equation of the tangent and n0fMal 1o the curve x '’ +y
Or

el @ e wirey g forTat A1 34 R S Ry aporerare wenea R

, ll"d wh _ . <ilhle
Find rwo numbers whose sum 18 24 3¢ Product is maximum as possible
x11 - nfory
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